N = 0l & At & Ml A

201348 & 20iat e XSF Mo ~ X3 M

R RPN R =Ny

g NSFH 2435
Sl MBAN LS AW CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
XS Z A 12,253,318 9,792,503 2,460,815
= 3,677,094
& 1,620,000
=2 571,190
< 1,498,560
Al 4,886,474
ANEEH 243 352,720 148,720 204,000
< 70,500
Al 282,220
MM 243 N 352,720 148,720 204,000
< 70,500
Al 282,220
X0 LS SAALY 40,000 40,000 0
201 Let24d] 40,000 40,000 0
03 A2 S HI 40,000 40,000 0
OZX0lx Yets &It 40,000
O DTX0I =M BHEes N3 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
02 QltFHE X 10,000 10,000 0
O&= DEXO0I =YX ZHASL XA 10,000
AHAES & HE AR Sotzel 21,720 21,720 0
201 L2l 3,000 3,000 0
01 At 22l 3,000 3,000 0
OAHEI BA & 2HINE=S 3,000
301 et A3z 18,720 18,720 0
12 J|EtE4 = 18,720 18,720 0
OSIIEEANAE 2LHRA 29
100,000& x12H »12& 14,400
OeId & Sise ZAMRI 22
30,0003 x12H x123 4,320
Het=2 2 A3 AHANBEMH 2 XA 16,000 16,000 0
307 21201 A 16,000 16,000 0
02 2ItF & E X 16,000 16,000 0
oHg===28d s AHANEEMH 22 XA 16,000
et AY A SAINAEXNE XA 9,000 0 9,000
< 4,500
Al 4,500
201 £B-2d| 9,000 0 9,000
< 4,500
Al 4,500
01 At 22l 9,000 0 9,000
OFeIIAL A 2AIAFXE LI ALY 9,000
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Sl A XS EERED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ2 X 2F=A & #IX0HY 10,000
22X & ALK 4,000 4,000 0
201 Let24d] 4,000 4,000 0
03 &Ar2 Gl 4,000 4,000 0
OZZ2X2 & HAXA 4,000
HEARE s NJdH 24 80,000 80,000 0
307 21201 A 80,000 80,000 0
05 BIZHRI & 3 80,000 80,000 0
OHERAEL-SX X2HH 29 80,000
HIgd X 8,131,414 7,467,996 663,418
= 3,677,094
& 571,190
=) 1,151,072
Al 2,732,058
S322AMY F& 1,235,000 1,235,000 0
& 571,190
Al 663,810
101 14 Hl 1,192,800 1,192,800 0
&2 555,590
Al 637,210
04 JIZHHZ22XREE S 1,192,800 1,192,800 0
0332z AMg =& 1,192,800
= 555,590
Al 637,210
201 et 5,000 5,000 0
& 2,000
Al 3,000
01 At 22l 5,000 5,000 0
OZ2322 Mg =& 5,000
& 2,000
Al 3,000
202 O4dl 7,200 7,200 0
=2 3,600
Al 3,600
01 = LH 4 Hi 7,200 7,200 0
03322 AY =& 7,200
= 3,600
Al 3,600
206 M= Hl 30,000 30,000 0
& 10,000
Al 20,000
01 MHZ 8l 30,000 30,000 0
OZ23222 MY =& 30,000
&2 10,000
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01 SO HI
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12,000
12,000
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227,006
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03 Al A H| 70,000 75,000 A5,000
OFSEZ 0ol & SHA} 70,000
= 28,000
Al 42,000
HUEFS 2000 AHS 1,440,000 1,920,000 A 480,000
=} 576,000
Al 864,000
307 212t0| & 1,440,000 1,920,000 A 480,000
= 576,000
Al 864,000
02 QI2tA A X 1,440,000 1,920,000 A 480,000
OFEFS 2000 AFS 1,440,000
& 576,000
Al 864,000
2ol . A oteko] I SHALSE A 10,000 10,000 0
201 Bt 10,000 10,000 0
03 A2 G| 10,000 10,000 0
©7Ql - PE Oidol Y HAEA 10,000
4050 SHESE FHEXA 86,400 0 86,400
& 34,560
Al 51,840
307 gizto| A 86,400 0 86,400
& 34,560
Al 51,840
02 QI2tAAME X 86,400 0 86,400
©4050 sS&ES FIEXA 86,400
= 34,560
Al 51,840
EHd3tD HESHAY 86,000 0 86,000
o= 43,000
Al 43,000
308 AMXISHMSOIA 86,000 0 86,000
= 43,000
Al 43,000
06 B=J|&0tistEx2 86,000 0 86,000
OEH3 D HEFHAY 86,000
& 43,000
Al 43,000
9EE Iz Nl 216,000 216,000 0
& 65,000
Al 151,000
307 2iz2to| & 216,000 216,000 0
== 65,000
Al 151,000
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HY: DREX Y CAOE
el Felgs X CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A EDIY WERT 29 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
02 QltFAHE X 20,000 20,000 0
OMSIEIIY HWERIT 29 20,000
AR DG MAS OLED 29 20,000 20,000 0
201 Let2d] 20,000 20,000 0
03 &Ar2 I 20,000 20,000 0
OMAZEHIHE 28 & A, A 10,000
OFZst- =20 I BHESE 2MHE 10,000
A DY SHX& ofatolol 24 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
02 fIZtFAE X 10,000 10,000 0
OAMSIEIIY LKA O3tdlol =22 10,000
HSAE 243 3,617,460 1,988,753 1,628,707
& 1,620,000
< 276,988
Al 1,720,472
HdEANE 243 XA 3,617,460 1,988,753 1,628,707
& 1,620,000
< 276,988
Al 1,720,472
HEANE &eld =& 31,000 31,000 0
201 Lt 31,000 31,000 0
01 At 22l 25,000 25,000 0
OXHSAZE 43t =& 25,000
02 =24l 6,000 6,000 0
ONSAE Jt2s I3 500,000& = 12& 6,000
HEANE FAUHE HEIER0 24 195,960 184,920 11,040
< 58,788
Al 137,172
307 glz2tol & 195,960 184,920 11,040
< 58,788
Al 137,172
02 RIZHE A E X 195,960 184,920 11,040
OXSAE HAUE FEIECR0 29 195,960
< 58,788
Al 137,172
HEANE 23S A X & 83,500 73,333 10,167
< 4,000
Al 79,500
307 21201 A 83,500 73,333 10,167
< 4,000




R RPN R =Ny

M MSANE 2435
oo HEAT 243 X8 (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 79,500
04 QIZHSH AL = 83,500 73,333 10,167
OHSANE 23t AL XI& 83,500
< 4,000
Al 79,500
HEANE &43H RSAE 357,000 0 357,000
= 214,200
Al 142,800
307 gl2tol & 357,000 0 357,000
= 214,200
Al 142,800
02 plZtF A2 X 357,000 0 357,000
OHSANE &3d RSN 357,000
= 214,200
Al 142,800
HEAND ALE0 S 2,700,000 882,000 1,818,000
2 1,620,000
Al 1,080,000
401 Al HI L 2T 2,700,000 882,000 1,818,000
2 1,620,000
Al 1,080,000
01 A& HI 2,678,760 866,000 1,812,760
OHSAZ ALSEUS 2,678,760
QLUSANE F=XHE 55 586,260
z 351,756
Al 234,504
OZLE2AMEIN =Y =4 2,092,500
= 1,255,500
Al 837,000
02 2eltl 9,960 11,000 21,040
ONSAE MESHUHS 9,960
QLUSAANE FXE EF 9,960
& 5,976
Al 3,984
03 Al S HHI 11,280 5,000 6,280
ONSAIE AMESUHS 11,280
QLSANE =XHE B 3,780
= 2,268
Al 1,512
O TFI =XHE X4 7,500
& 4,500
Al 3,000
ZAHUHAE SEHE ALY 100,000 0 100,000
401 Al HI K 201 I 100,000 0 100,000
01 Al&HI 100,000 0 100,000




R RPN R =Ny

M MSANE 2435
el dSAE 245 X2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZcHUHAIE SEIMHL ALY 100,000
g2AE SZMEAMS 100,000 0 100,000
401 AIEHI L 20 100,000 0 100,000
01 A& HI 100,000 0 100,000
OLRAE S3MLAE 100,000
OstEAa 222 50,000
@OHH 0 E E= 50,000
SaI SEMHE ALY 50,000 0 50,000
401 AIEHI L 2 0] 50,000 0 50,000
01 A& Hl 50,000 0 50,000
OZTL&I SAMLAEY 50,000
HE2HAZH (KNS Z M) 57,724 60,034 A2,310
Jl2ZHl (KA ) 57,724 60,034 22,310
Jl2del (XA 57,724 60,034 22,310
201 Let249] 29,764 32,074 22,310
01 At 22/l 27,764 29,674 A 1,910
O 2 Et==EH| 13,680
o023+ 3,500
O= &l 10,584
02 8322l 2,000 2,400 A 400
03322 2 HA 2,000
202 odl 23,760 23,760 0
01 = LH 4 1l 23,760 23,760 0
OJlegdfF=8 0l 23,760
203 YR =&l 4,200 4,200 0
04 FN2ELRZ=LH 4,200 4,200 0
ORN2IYSZ=AHI 350,000& 128 4,200




